1. The arrows on the left-side diagram show the gravitational force vectors between the two masses. In the right-side diagram, the same two masses have been moved further apart. Draw the new gravitational force vectors. Make sure the lengths of the arrows are correct.


2. Two force vectors are shown inside the box. Circle the arrow below that most closely represents the direction of the net force (i.e., the vector sum of the two force vectors). 



3. On the grid, draw a vector representing the sum of the two vectors shown. Draw only one arrow.
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